FE & B HEME FEE) I\FE i R 5

#R5ER : 074057148

28 . [911E] iR KEEWL (EEEEA - M/ HWEEAM : K-8 )
LT EEH HWENEHE tYFEY LEESENE] FE=FB RIS RE
HEHE &fE T {E HEHE &fE hiE HEHE &fl hiE
—W¥ B ZFHE 3,240 1,280 22 18 1,960 117 113
—H%E =" IR 820 820 94 78
N R 1,400 1,400 58 55
ATL—% HARE 4,990 580 44 36 4,410 116 66
TARNY R4 ZFHE 120 120 81 81
FRERS HiFE 350 350 243 134
AIL—h—r—3> BN 3, 550 1,950 66 34 1,600 99 57
h—x—v3av WmARE 2,785 700 33 22 2,085 88 66
FlLax¥aw WAR 710 260 275 191 510 462 210
H—RS FHER 1,900 300 66 41 1, 600 44 36
BRMATAHE PR 690 100 33 33 590 88 43
YyFgFa a3 BERER 870 210 6 6 660 66 55
FTUIALEER =IFE 1,675 380 132 101 1,295 374 141
TILT4=a—L ZHME 385 185 132 65 200 110 66
RAEVF—FNT FRRE R 890 420 165 113 470 168 130
RAIL—nF ZFHER 260 40 110 110 220 176 132
" AR 545 425 165 132 120 406 228
YAES WARE 80 80 176 176




2% . [UI7E]

RETFPEHE ()

I\FiihREFETE

#R7ER : HF07405A14R

(BEEAT - R-85-4% )

M A E i HUY5EY FExtERS| FE=HR VG ERE & &t
—iwE B EHE 3,240 3,240
—WE = R 720 720
NG ki) 1,400 1,400
ATL—% N +bF LA 3,410 640 4,050
T4 RINY R L EHE 0 120 120
HaEs =IFE 0 350 350
G545 X IR 0 140 140
ATL—h—%—>3y HARE 1,550 , 100 3,250
h—xr—>3 v mARE 600 , 885 2,485
7 FER 40 200 240
FILA QAT iy =3 910 ,510 3,420
fLax¥xao mARE 260 510 770
H—RS EHR 250 , 600 1, 850
BIEMNT HE FMILE 0 560 560
yyga 435 BEREE 210 660 870
FUITURILEE =GR 540 , 295 1,835
AHhTEE AR 50 50
LAY BEER 50 240 290
HONHE BEER 200 200
ABA—FR N Tw k HARE 190 50 240
RA—FR a2 7—~4 PR 160 , 200 2,360
SYUARAN—FEE iz 8 40 40 80
FTILIT 4 Za—LA EHR 185 200 385
E<xD) FER 350 340 690
AFv T Wiy = 100 100 200
AIN=a5 BEHE 355 355
RBUE— RIS drile 570 470 1,040




RETFPEHE ()

I\FiihREFETE

#R7ER : HF07405A14R

7%8 . [t4E] (BB B . K-$k-# )
&h E ih HYUFTY FExtERS| FE=FERUIGSNERTE & &t

ATL—NT BHIE 80 220 300
FooTa—A =00 80 180 260
7L/ TR BEREE 85 14 99
TUI7 L 24 0 200 200
! 24 10 30 40
VUEYa—LA MHEE 24 24
TR L BiE 0 92 92
Jany)i4 =R 20 60 80
Y FER 670 540 1,210
® % EHE 425 120 545
k)R BiE 0 130 130
Ho— FER 120 70 190
7)o L A= 60 20 80
SES BER 160 700 860
EH REARR 0 125 125
A—=—VHI LA FER 40 40
4 ko EER 40 40 80
FHAT =iFE 100 100
EXRY AL r—7 0 180 180
YAES HARE 0 80 80
] 1t FHE 2 160 480 640
% iall 58 ¥ E = 17, 454 19, 091 36, 545




